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1 249 K FEA 2 EEA-IEE) 11,07 (-1.
238 A HIL 4 EEK-HE) 11.25(-1.
245 ¥ AR 3 (R K-FAR) 11,33 (-1,
251 {2 2 K W2 (FEEK-F) 11.54(-2.
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466 AR 1 (SR ) 12,17 (-2
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1 464 R AR I HE 1 (& K- 1K) 1:56. 00
2 237/l Fo N4 (R K- KBR) 1:59. 41
3 459 KA i 1 (A1) 1:59. 57
4 2841 i E 3 (AR ILITE) BHE
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4 232 = R 4 (BB K-fEE)17:54.73
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1 261 2 K P2 (REK-HHR)11.54
2 25285 K IEAT 2 (RRER A 1177
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4 255 & BROF 2 (R K- Hrik)12.29
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1 246 5 H #5323 (FE K- 7K 4m80

2 461 /R =1 GEEKR-EH) 4m60

3 465 JH AIK1 (B K- THE) 4m50
242 B BLEE 3 (R ER-iR) e

BF =Bk RE

146310 1 B K 1 GBS KA 13012 0.0

2 254F 3 K2 GEkk-ET) 1260 +1.7
460 KR B A L Bk ) R S
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( -0.7 m)
11175 IR B 1 (@B K- JhiiE) 12. 58

ZF 800m REE

11078 HHr E£5F4 FBEHR-EHE)2:11.58

ZF 100mH R

( -1.6 m)
11080 & A 3 (faEK-1U#)14.93

ZF 400mH R

11089 E A Rk 2 (ff 5 K- = 45%) 60. 98
21087 BL 1L /N4 2 (f@ By K- B k) 62. 86
31001 4k T = 2 (/K- K¥)64.43
A3 A 57 e A 1 @RX- i) 69. 71
SNTTEH AT E 1 (REK-F4H)70.74
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10214 B K AU080&K A & 31089 EAF Rk 2 NSINEEEEE 1 1017546 Hndr 4)47.39
20414 B K BMTTEHEAT & 11082 2 KE4 310014k F = 2 10780 &F 352 4 )50. 37
6] B K CcM3aEF weH 110878 (L /N4 2108582 A Z3 310195 K Ak 4)51. 44
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11081 JIl & B4k 3 (fEE K- T3E) 3m40
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11077 & 4% i A 4 REEK-=48k) 6m07 +0.8
21082 e 2« K# 7% 3 (f@ K-8 ) 5mb2 +0.9
31079 FH AF AR 4 (F@EAK-IEE) 5m21 +0.2
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11076 #2 117D L 4 (F8 55 K - ZK3) 46m34
21176 KR & & 1 (EEK-1E) 22m33
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T1176 A 0E & & 1 (@& K- JikE) 11m46
21076 2 11D L3 4 (RS K- K90 Tm69



